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4% 6 & 3 B 22 A
FAEFE2HMEETS FEMIEARE
¥ & {f 4% & 639,573,000 H
(TE={Mm#& & 581,430,000 M)
No.| 4 b H = WE | B & %8 & %5 & &
I | EEISRE 1 = 474,543,297
o| 3 & & 1 Fan 106,886,703
1 HBRSE 1 =% 32,086,861
2 HiGERE 1 =% 17,799,765
3 —REEE 1 = 57,000,077
=) .1 (I4+1) 581,430,000
Il | SEERMEZNEE | 10% 1 = 58,143,000
“w & & ((I4+40+4m) 639,573,000
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(FEHANAR)
No. £ Fh HE | B = %8 & &8 s &
EEIRE
Al |BETEEFHERES) 1 = -
A2 |BETE(HERZED) 1 2 469,414,537
Bl |EXRRMBIEFERESD) | = -
B2 |ERFHEIE (HBEEED) 1 = -
Cl |HRIFLEFERESD) | 2 -
C2 |HMeiE TE BRES) 1 2 5,128,760
B 474,543,297
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(FERAIAR)

No. £ £ BE | B % %8 & |

A2 | BERISE(BEISHERES)

1 |BETE 1 = 469,414,537
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(F B BINER)
No. £ Fh HE | B = %A &8 s &
EEIEE
1 [#EITE(294) 1 % 30,725,534
2 |FREMLSE (298) 1 = 10,853,754
3 |HEIE(305) 1 o 24,400,991
4 |FEMNSE (308) 1 ® 9,047,667
5 |HEIEGIH) 1 K 23,980,996
6 |FEEMLDE G1H) 1 2 8,575,722
7 (HEIE(324) 1 =K 24,425,873
8 |REMNSE (324F) 1 R 8,353,830
9 |[BWEIEE3) 1 - 25,346,214
10 |REMUNSE (3318) 1 =X 8,296,220
11 [BWEISECHEHE) 1 2 3,554,736
12 |EMNSE (F1E1E) 1 = 1,909,394
13 [ETSE (5M8) 1 % 9,862,676
14 (FEEMLSE (SME) 1 X 5,843,015
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15 (EiREE- BT E 5,733,140
16 |REMUSE 419,300
17 [P AR AR 267,800,480
18 |EREHRIE 210,280
19 (REMULSE(BRIE) 74,715
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1 |[BEHEEIS 1 = 5,128,760
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No. £ 5 = B %8 & &
C [MHWREIE
1 |BEITE 1| = 4,466,428
2 |REMUDE i = 662,332
a8 & 5,128,760




